A FAam
A NRES(H2M)(HFLES/HIIS)

&2 WRANHX = (&9 HM
SAN-ZH-SA(FA) - NFAY - BES (il & OH J|E Hlw &2
A 34,058,792 31,950,000 2,108,792
Hess(HA0)(SHEES/HIIS) 34,058,792 31,950,000 2,108,792

LHEHeH XIS 33,450,000 31,950,000 1,500,000
I HE &2 33,450,000 31,950,000 1,500,000

701 JIELSI AN EZ 33,450,000 31,950,000 1,500,000
01 JIEt2HE =S 33,450,000 31,950,000 1,500,000
OFAANGSEEH HES
Z & 33,450,000,000& 33,450,000 31,950,000 1,500,000
BEXE 608,792 0 608,792
grEt = DI Et 608,792 608,792
802 Et&= DI Et 608,792 0 608,792
01 =2 NEXIPES 608,792 0 608,792
OSH = BIOIRIIAAIE HXIAY
600,000, 000& 600,000 0 600,000
OSH= HIOIQIIAAIE HAXIALY BHES OIA
8,791,230 8,792 0 8,792




